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<ul>
<li>True Positive (EIE, TP) #t&EFUNAIERIERER; </li>
<li>True Negative (Efa, TN) #EEFTNARAIGER ; </li>
<li>False Positive ({RIE, FP) #AEESFRUAIERIGREER; </li>
<li>False Negative (&%, FN) #EEFRNARAIERSS; </Ii>
</ul>
<hr>
<p> <strong>True Positive Rate</strong> (EIEZ, TPR) EiREUE (sensitivity) </p>
<pre><code class="highlight-chroma">TPR = TP / (TP + FN)
</code></pre>
< E > IEFFATINEEEREL / IEREASERRER </p>
<hr>
<p><strong>True Negative Rate</strong> (EfZ, TNR) S#HEE (specificity) </p>
<pre><code class="highlight-chroma">TNR = TN / (TN + FP)
</code></pre>
< E > R ATRNEESREL / AFANSERRE </p>
<hr>
<p> <strong>False Positive Rate</strong> ({RIEZR, FPR)</p>
<pre><code class="highlight-chroma">FPR = FP / (FP + TN)
</code></pre>
< E > TN A ERI R AEEREL / AR ASERREL </p>
<hr>
<p><strong>False Negative Rage</strong> (f&faZ, FNR) </p>
<pre><code class="highlight-chroma">FNR = FN / (FN + TP)
</code> </pre>
< E >IN RBIIERFAEERER / IERFASERREL</p>
<nr>
<h3 id="IERp="> IEffZE </h3>
<p>IEffEER P Zig¥IMTOIEMBRYE AR, SCRRAIERREARRINE: </p>
<pre><code class="highlight-chroma">P = TP / (TP + FP)
</code> </pre>
<h3 id="F@E=E">ZE=E</h3>
<p>ZB[EE R RIEFAELF PTG/ EAIREARRIELH]: </p>
<pre><code class="highlight-chroma">R = TP / (TP + FN)
</code> </pre>
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